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Module Name : TET - Paper 1 - Tamil
Exam Date : 14-Oct-2022  Batch : 09:00-12:00

Q. No. Question Body and Alternatives

1 1 God' is an example of concept.
&L 66T eTeoTLILI(H UG 6T6UaUME QUIMSIMLNE &H([HSH S ?

A Abstract concept
HewlUL TS &HHSHS!
B: Simple concept
erefl W & (B S S
C: Conjuctive concept
QEmeTTLILES HBSSI
D: Complex concept
FEHHETET HHS S

2 2 | Physical and Psychological explanations and understanding originate in which stage ?
2 L6V nmmild 2 aTellwieb FMibhs allaTs&migeT MM LflHe&6T 2 [(HeuM@&Ld LIHeULD 615! 2

A : Infancy
FaUL@meILd

B: Adulthood
uemerflCILIHeuLh

C: Adolescent

GWLIUUmaILD
D: Oldage
WslemWLILIHEeULD
3 3 Which model emphasizes the importance of the relationship between the student and the teacher in the learning process ?

6THS 26V (G (LD MWITETSI SMHMEV QF WELLIML 1960 2T TS @& G LOMETel & Eh @& G0 L Gl 2_6Tem QIGMLITL
(WDHRWILDTETS! 6T60T U6 NS SIH MG ?

A': cognitive constructivist
SIPIBO SiDley 2 BETES SIS WDD
B: Social constructivist
Fend HLLenLOLIL] (enm
C: Behaviourist
BLEHMG FMT QO &HTETe0H
D: Constructivist
SDl6Y 2 BEUTES TGO

4 4 | Who calls the mental structure as SCHEMA ?
LOGOT emLDLIm LI GV LD 6T6TMI Fon M LLIGUT

A : Piaget
NwrGsy
B: Skinner
6 & TeoT i
C: Pavlov
LITeU6u6Y
D : Thorndike
SITTe00T60IL &>
5 5| Adult persons enjoy cricket when they watching cricket in the T.V.

QWS aUbEaTS6T RGOS ellemeTwT el QFHTameusHaTL Ul LUMTGa GeTLD QUMIeIS :

A: Schema

QFWe s er QsMGLIL
B: Organisation

R (HMHBIFHELDGH S 60
C: Adaptation
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@) 600T 1B & & 6V
D: Accomodation
QUITBHS SISV

The theory of connectionism is also known as :
@\ 6m6uoT I8 GaMLLIML6emL 6TEUTELD 260D GEVITLD.

A Classical condition
S8 Blemeul DS 56
B : Operent condition
QFWeLI(H 9588 Ble0eu|MIS5E6)
C: Trial and Error
VWDl Seuplé HHMmeH
D: Social learning
FeNGHS &HMHMEV
What are the essential for concept formation in manipulation ?
& WITEHLDL HMEIT QLIMSIMLNEG & (5SS ([(HEUTHSHSH MG CoHenalLITETENE! 61606 ?

A : Organizing, Reforming, recalling
R(BEIGHELDG G 6, LT U alemINSSH6, L (h & 6 & Teuor & 60
B: Recalling, Recognising, relearning
(018 Q&TemTIHev, MG Q&TETEhS6, Leoor()D Leor(HID &MHMmeV
C: Organizing, Adopting, assimilating
R(BMHIGHELN GG 6V, @)600TMHIG S 6V, H6Teu W LILI(HISSH60
D: Organizing, reforming, reporting
R(HEIGHELDG S 6, LI6TaUY UGS, 3166
According to Jean Piaget pre-operational children are :

Hwreageler &mSsILILG QFWLT. (H&E (WHmSW LIH6 & L0 S8 6f 6 Bleneu :

A': Egocentric

SETLOWILD TS 6V

B: Social
FeNG

C: Flexible
QBS peu et

D: Complex
F&HeMaTS)

The specific factor of Fluid Intelligence is :

@)6m&: &5 L0MmeoT Hievorevor Mlel6dT F\MLIL| & ITyeoot]

A : Vocabulary knowledge
QFTH&HETEHF W ey
B: Memory span
Blemeotey @) 6oL Gl6uerf]
C: Sequential reasoning
QSTLIFRWITET LUGSSM 6]
D : Numerical facility
6T600T600 1ULI6L GUITUILIL]
The ability to order items along a quantitative dimension, such as length or weight is :
Berid Sjeveug! eTemL BLIMEITM 246rmey LIFlLOMetord &L 6T QUL S emer aufleng LSS S medr :

A : Seriation
aflenalILBhSSID S meor
B: Transitive inference
@)ML[Bl6MEL 2IEILDITEITLD
C: Group organizing
G SMDG S
D: Conservation
LIMSI&H TS 60
Group factor theory is profounded by .
&W &Myevoil GHTLLML ML (DeTQLMSBS 6T
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A: Spearman
eLNWIT QLD 6dT
B: Alfred Binet
SpeuFL LNGeor
C: Thurstone
SITeruLeor
D: Gardner
ST L6oTJ
12 12| Children do not keep the persons as their role model in developing friendship :
GOHMSSHET BLL| QETETEBLL CLUME @b BLTSH6T (6T DTHFIWLTS emeasH sl Q& meTaHleemey :

A : Parents
QUMOHCHTH
B: Teachers
YR Iy TNy 2: Yoy
C: Friends
[5600T LI [T &5 6T
D: Stranger
LB W86
13 13" Late childhood is a period of relative emotional calm. This is because of :

NbensWw GbensLll Liealld UL Leralley IneT@eauWd s Ermer &meus Ll LD 9@, @) &M &8 &TIeuoriD :

A : no task to accomplish

QF WIS (P &5 GeleoTlq W QFWLIT(HISHET @ eVeVTHII
B : games and sports provide a ready outlet

alleneTW ML (H&6T 2_L60TIe. 6UI4.& TS LB M
C: more frustration

288 wearple) gHUGH DS
D: less skills

SODHS H M6t

14 14 | Expression, growth and development of intellectual activity depends on :
Blevorevorl 6y Q& WeLLIML_19.60T QeueflLiLIm®), eUeTF&E M mID WPETCETMHMLD @S QUTMISSHSI :

A : Controlled environment
SLOUUGSSIUL L &FHMIEF G060
B: No external factors
6THS L|M &ITireuoll & @bLilevemen
C: Special and right type of environment
S mLILmeoT IDMHMID FWITeT & MmIF @ Lpev
D: Any kind of environment
IHMUS RO FOYF GO0

15 15 | Failure to thrive babies try to protect themselves by adopting few strategies to protect themselves from threatening adults. Which among the following is
not a sign of failure ?

aumpeNe g meel W mIl GLHenS&H6T AHFHFMISSID QuflWweFseflLLD @BHS SHise6T LUMSISTSS Q& M6l S eTs
Flov 2 G55 G&HE06T MmGBWTEHLD. B Q&TH&SELILIL (DeTemanealsHefle eTemeal G5 mevalluiler 2j6mLWIMTLD G)evemeu ?

A': keep their eyes on nearby adults
BT UWla6Ter QUIflWeIF&HemeT LIMTESI8 C\8mevorCL @ BLILIS.
B: Anxiously watch their every move
USMHMSSIL 60T 2656 60T 6UQ6UTH 2|6MFemauLD CBITE EG6US!.
C: Rarely smile at their care giver
STHIG560)6T &eU6TLILIOIMT LITTSS LTINS L|60Teoren LI,
D: Show rapid growth
265 2 L6V aueTi&FF QeuafliL@ L.

16 16 | ' Which among the following cognitive development stage is related to child's illogical mode of thinking ?

GGG 6THS MBS MEIT aUeTIFF Blemev SIS IMM FHS6m 60T L 60T QGTLTLINL WIS ?

A: Pre operational stage
QFWNIGE (LHUL L Bleney

B: Sensory motor stage
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Levenflwg: g mlemev
C: Concrete operational stage
LIGLUQUITIH6T Blenev
D: Formal operational stage
SHHSHH W6V Blemev
17 17 The stage that occurs between birth and one year of age which includes parents for his basic needs associated with :

Nmliy wsev @pmesor(® eleny S LILL CH6Us @55 MH: QUDHCHTENT FMIbHS &) (ST QSTLFL ML Blenev
618! ?

A : Initiative Vs guilt
ST QG TLBIGTHMED Vs GHHM 2_600TT6)
B: [Identity Vs role confusion
S6ofl GG eTemLn Vs HeotementLl LMl &LoLiLLD
C: Trust Vs mistrust
BIOLGmS Vs 9jaubL&ens
D: Industry Vs inferiority
2 emLpLiL] Vs &TLH6Y 06T LILITETemLD

18 18 | Seeing Radha feeding the birds, the other children also enjoyed feeding the birds. In this select the value of the change made by Radha to other children
from the following ?
TSI LMeN6&EH&H G 2 60ralef s e s s &6, LIM &LobHen & & EhLD LiMeMe6ls @6 2_6urelef s sl Lo&LDbE 6.
@B ev grsmellermev LM GBS s6 LD gHUL L WTHMESS 6T G LI HLh& 8600 Leum el G\ BHS!
CaIHESHSHHLD :
A : Personal value
ST G
B: Social value
Fepg LB
C: Political value
TR W6 DG LI

D: Religious value

21,6758 H L

19 19 | Even before joining the primary school, my sister's son imitating like a doctor. He treat others as patients and giving prescription and advice as a doctor.
These activities are all the outcome of :

Uemeflufeb GFFLILISMHEG (LETGL, 6T60TSI 2188 Mail60r L& 6T (1 OB SIeUen [ GLIMe BL S &ML HG mmeor.
IMHmeiFsener GHTwmef&GeTmasl Lmallgs GBHEEF L6 IWHEQHTHSHS! L0([HESI6UNTLICLITE 3y, G6VTE 660
o IS MITET. E)6MEUGILIGVEVITLD 6TEH 6T QeUETILILITL TS @) [H&EGLD ?

A: Logical thinking
B&6S (PenD §)HS 606
B: Cause and effect logical thinking
&Tyeor ST &76:8 Fb&en 6or
C: Symbolic thinking
&I (b Fbgemeor
D : Inter prepositional logical thinking
@enLQeuerf H766 Fbsemer
200 120 | The neurons that connect the sensory nerves and motor nerves are called :
L|6VEDT 2_600T T& G Bl WL, T T60TE6M6ITW LD, @) U188 [B] WL, T IT60TE:6M 6T LD @) 60)600T8: @ LD 151 WL, [T IT60T&s 6T areorILIHID.

A : Inter neurons
@)™ euoT LI B, T T60T 85 6T
B: Motor neurons
@\W &S BlW,ITeTa: 6T
C: Sensory neurons
LI6VEDI 60T &G 1B WL, [T T60T & 6T
D: Neurons
151 W, [T IT60T 85 61T

21 21 ' Which one of the following is not found in newborn child's neuron ?

SLseorLalmmleL LIMBS &LpHensuller Bl Q&F606eN60 &mesoTILILTSSI 615 ?

A: Axon
91,86MVT60T
B: Myelin
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e Lo w6l eor
C: Soma
G&mom
D: Dendrite
QL&ITIg 6L

2222 Find the correct answer.
Statement (A) : 'I feeling' is commonly seen among children.
Statement (B) : School and peer group have no role to develop 'I feeling' into 'We feeling'.
Frlwmer eflemLenid Seoor(HILNG &&HeLD :
FaMMI (A) : 'BITET 2_600TF T CMEIT' 6TEOTLISI GLoHem S HeflemL Gl QUITSIONTS STeooT L ILIGS M.
FaMml (B) : 'BITET 2_600T T HGM6IT' 6T60TLIENS 'HITLD 2_600TFHRGMITLD' 6T6dTM) GBS SIUSMN G LaTer] nmmild eUILITF
& W6 LIBIG G)6Vemev.

A : Statement (A) is correct, (B) is wrong

gl (A) &1, (B) Heuay
B : Both statements (A) and (B) are wrong

G DOISET (A) HID (B) @TeorGILD el
C: Both statements (A) and (B) are correct

FaHDIGET (A) LODILD (B) QUevar®Id &1f]

D: Statement (B) is correct, (A) is wrong
Fahml (B) &ifl, (A) Heum

23 23 | Social referencing helps toddlers move beyond simply reacting to others emotional message.
These experiences along with help toddlers refine the meaning of emotions of the same valence.
(a) Cognitive development
(b) Emotional development
(c) Physical development
(d) Social development
FOLNG Fo MIGET (DETLI[HEUS GLLHENSUN6T LDTEaI(WLEFS QF LT &HEHEHE 6TeflEmas SLILTe QFWLIL Fend
GLMHECHTETHET 2 R M. B)HS ILICIBIGET GLPHNSSHEHEHES 2GS BleneuuN6l LD6TE 6 (W& &em6rT
QLBHESHMILSDHE 2 FHDII.
(2) 2ABSH6H HW6tT auen &6
(b) LDETQRUWEFF aUeTTFR
(c) 2_LeSW6L auemjg&
(d) FePS QUETHFS

A: (a)and (b)

(a) LDODILD (b)
B: (b)and (c)

(b) LOHMILD (c)
C: (c)and(d)

(¢) HOILD (d)
D: (a)and (d)

(2) LDODILD (d)

24 24 | Which one of the following is not a role of teacher in a constructivist classroom ?
BB QETH&HSILL G 6TeTeummlsv, 21,8686l el 2jgw1EwWenmuileumeT 6u@LILenmuNey, o8 iflwifler LIt L heusid &
QUTMBHDHHTS 60T :

A: Guide
ol &G ueury
B: Monitor
GLOMLIMTFEm U 6T
C: Facilitator
FSIQUMETTY
D : Instructor
soUlliLey

25 25 | Which of the following is a teacher related factors affecting learning ?

sHmeme UTH &G0 A FWF Fribhs smyeuot] :

A : Availability of teaching - learning resources

RO &HETF LU HHMV-GMHLIGS60 GU6ITHIGH6T
B: Nature of the content

umLLQum@erfler SeiTemio
C: Mastery over the subject matter

urLLQum@erley Bl eorggialin

D : Proper seating arrangement of students
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LD ITEO0TEM [T & 61Tl 63T (LOEDY MULITEUT @) (H&H 605 26006

26 26 | The reason behind why the students highly prefer to learn outside the school s :
(a) Based on student's interest learning occurs
(b) Learning without control
(c) Content load is less
(d) Exam fear

IomemoTel T &6T Lieerflé@ Qeuefluiley hm Q& maTalemns HH & el (BLLeUSME STTeTLD :
(a) LOM6OOTEU TS b, TaUSHHCHM LI &MHMISE & TETET G)UIevih

(b) BLOLUUTG &6rfledrTn)) &M mI& 6 & TeTeT (LOLgULD

(¢) GEMMEUTET LITLLIQUIMTHET &6mLD

(d) a6y Lwd

A: (a),(b)and (c)

(a), (b) LOHAILD (¢)
B: (a), (b)and (d)

(), (b) LODILD (d)
C: (b),(c)and(d)

(b), (¢) LDO QLD (d)
D: (c),(d)and (a)

(¢), (d) LOHAYILD (a)

27 27 | Which one of the following is related to creativity ?
G LD G T6UOT LIGU (D M1 6T 91,88 5H ML 60T QG MTLTLIML WIS :

A : Emotional thinking
2_600T[f 6 LL U LD MTeuT &[5 & 6601
B: Convergent thinking
& S b G emeor
C: Divergent thinking
allifl A b g emeor
D : Peripheral thinking

GLOGEVITLLLDTET &b & 60)60T

28 28 | Abhimanyu learned the art of chakravueh Bhedan from his father Arjunan when he was in the womb of his mother Subhatra and used the learnt concept
during the Mahabharatha war. This clearly indicates :

SN 06TW, F&H TN W,5H5H 60 BIEOLOU|LD SHeMeuenls &6iT HHens 2 JegOerefl L LO(HHS 6T STl & Ligenyuller
HMHeUen MU @HHGSWLEUTES &MHMIGE & T (H L&TUTTSL CUMTl6 9j6ems LIWeTLM ST, @ F Q&6
GG eug :

A : Learning is a continuous life long process

&HMHMEV QUITLDIBITET (LLLPEUSILD BHEMLGLIMID ([H QSHTLIO&F W6
B: Learning is stopped after birth

BHO GRHos HNnbseer BleameilGin
C: Learning is possible only during earlier stages

SHHME GBS UNET 2 TIDLSTVSH 6 L HIGLD HemLQLIMID
D: Learning occurs before adolescence

&HMHML aueTilerid LBeuSHMHS (WDeTerCr He) QLMD

29 29 | The correct sequence of the five steps involved in programmed instructions :

SLLIALL smmeder 5 LigBlenevgseneT Fflwns euflenFliL® S5 :

A: READ-WRITE-CHECK-PROCEED-RECORD
READ-WRITE-CHECK-PROCEED-RECORD
B: CHECK-READ-WRITE-RECORD-PROCEED
CHECK-READ-WRITE-RECORD-PROCEED
C: RECORD-READ-WRITE-PROCEED-CHECK
RECORD-READ-WRITE-PROCEED-CHECK
D: PROCEED-CHECK-RECORD-READ-WRITE
PROCEED-CHECK-RECORD-READ-WRITE

30 30 | Strategy which is specially useful for the development of higher cognitive abilities :
2 W SMle)s HMeTEH6T cueTieHs LWeTUG SSIn miiumer &HLNE56 enm :

A : brain storming
PEDETS HTEHS

B: drill and practice
LW oyerflgsev

C: illustration
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allams: & He6v
D : project strategy
QFWLH L (Lpenm

31 (31 . . . . . . . . . .
"SIRIGIT HH W &LITTOME 60858506 8Meor(h &missTa LFlUrbhe &MU eTedTal LITGuier :

A
LECLHE
B:
SLUT
C:
R LEFSHST
D:
GFHROMY

S "Parable’ 6T60TLIS D& @)6M600TWITETT HLALDEFQEF TV (QLIMIBSSLOMTEOT) :

A:
SHNSLILIMTL6V
B:
2_QIemLD
C:
2 _(HeUdkHLD
D:
CUEFFTMHMEL

33 33 A . .
106071 & 60T 6TLIGLIMESILD 2_600T6n) L0 6m WG

A:

2 601785 60T M 60T
B:

2 60L& G 60T M6dT
C:

2 60 M & 6T M TedT
D:

2 60y & edT M ImedT

¥ g eome QUMM QLIHEHERQ&F6VaILD HETLIME &HevHHenLo WmevSiflh &mmi

@&G@mLLImeley Liufermr B ) 6vofl :

A:
2 (HeUs 3600f]
B:
TH S SISHSTL(H 261650 WI6v0T1
C:
JHCHF 2 (H6UG 2600l
D:
2_auenLowleusf]

333 Fa MMl : @ HG WIMeT6T G&MeTemLWITET &6 alL (H&6fley QLIBLLLIMeUTeTen6l &LALGEW 260015 SI6TeT6oT.

SMTIeoTLD : HLALPTSET L (HIGL H6VE 6L LGMeT QUITMISS! 60)6U5 S 60T .

A:
Fa M Saum &ryeorin &ifl
B:
FaMHMILD &TFeroLD &Fifl
C:
Famm &l STFeoorD Heumi
D:
FaDOILD &TFEOOT(LOLD Seuml
36|36 QBTG TLILIWLGSH 6T REIGAUTIH D &TTSS el @) WIGLEET 2_6TaTL_BIS) 2 _6Temgl.

A:
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10

3737 Fammi 1: 2 U 6T & B156T LictTeQetor(hLh QOML& S (LPG6e96) aIBLD.

Fa MMl 2: QLUWCWWSSIS6T UH QT HID QmilsE Wwsed6 eurym.

A:

Gy | &, a2 Heum
B:

Dol 1 HUD Sahm 2 &if]
C:

Gl 11D, Fammi 210 &ifl
D:

Fa MMl 11D FoHMI 21D Feumi

S Ly, LDL{60T6D M) :

A:

=il
B:

ST FLFeof]
C:

HmINS
D:

MEUEDL

39 39 . . ) -
SEHUSSHSH ([ — TIPS SLILIBI6UG

LIEDEDTLOT LD

Ao Qs UlelD

Qb UMS G&FLY

SOMWITH QF6valld
40 |40 . R . . . . A L. . A
LLQWBSS! U(BLD LI & 66T LS8! nenmbgI Bl6oTmi DL 6TWIGILD [Bl6%)6VWI I & 6T 6TGOTI S|6mLNE&HLILIL L 60T.
A:
aumufeuger
@mulevg et

917600785 61T

CLMHTaenT

s e MBS CamarTLLILED BFleneuler @uW :

A:

356160

FTJ6V

Fn660

Herh@&erid
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42 42

43 43

44 44
45 a5
46 (46

47 a7

QuIBSHS :
(a) QeI (i) 2 54
(b) 1DZHEMEO (i) HL6D
c) Q& ereofl (iii) g,[ra'!n
(d  Si(peud (iv] &S&F&Li
A:

(a)~(iv), (b)-(iii), (c)-(ii), (d)-(i)
B:

(a)-(iii), (b)-(iv), (¢)-(ii), (d)-(i)
C:

(a)-(iv), (b)-(iid), (c)-(1), (d)-(ii)
D:

(a)~(ii), (b)-(iv), (¢)-(i), (d)-(iii)
BeoT@ et ulledT S A AT QUWIT Wrs ?

A:

@Umned kg & el ger

SRETEMEUWITIT

Al NgsTe seurdlaser

218 e TITD LIM6ooriq Wi 60T

GaufssLame, Weramilelens, MMHRIASTL L pHwanamnm GMl&E@G0n LUNF euens :

&6 QMG

n6uof] a1 &

Q&MWHSI U

@66V QUG

SaUMITeT QFMeLen e el L LOH\&.

A:

85600T L_IT60T

@ 6UEDT [T 60T

60T (h)

auevor(h
'&HEMTIHGEF Q&F6TM @LGLEV6VTD FNMLIL| 6T6TERID LIML 6 319 @)L LD QUM MIETET BTy

A
A5HF G

Q&MetTemm G6uHS 60T

BeveuLs

L &Iem T

GET IT ON

Google Play
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Q& 60Tevf | H ) Wi MeNl 60T 67 Q) G edTen' :

A
CHRTWANSSTT

Smes

GFeuld

Logleny

48 |8 GGG QUG0S S5 EB6T @) 60T 6T(LDS S| 2|6V6VITS @)60I600T 6TSI ?

A

&-b
B:

M — 601
C:

v-m
D:

L_ — ev0T

49 Wrsmaymuilai 6rers QGSTLHIGLD GOLUT QL IDQUMDHMIETET SH &ML :

A:

S| 60TL| 6D L_60IL0

sifleyemLemin

B(H\6 Bleneuenlo

3L &S (LPEDLEDLD

5050 'QRCHETHFHEV' — 6TEOT M QFMEVEOl6DT QLIMTBET :

A

Leyeriumenm
B:

(WSS LILITEn M
C:

LeofliLImenm
D:

Lem&LIUmenm

S '2_ 1pa|5 QFTIHGC' 2 6085 H) 6T

A:

6UEITLD

APS

9| & & mevot]

91,6001 G6uT

S (W& Gluetor LG W

A:

WSS &L
B:

LI6OOTI.& JITLOMUIMUI
C:

epeuary @ImomdisLd



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y47 Eooale Play

FrelgHflumi L,Gev

S SHLaGW QG IaILD eTedTemih LIMLeder @ flwi :

A:
uTgS Wy
B:
LUMyS) &@LDITiyeor
C:
UMy & &I eor
D:
LjevemLo L1986 & et
54 |54 P
A:
SITFesor] QUWy
B:
&ITeoored FNUILILI QLT
C:
SITT60OT &(HEST QLUWT
D:

SITI6oor QUIMSIL Quiwiy

55 55 . . . .
B. @UreshS TeT @UbmTS BTy

A:
26T & & 6T
B:
G128
C:
EPESTMILD 4 MILD
D:
QUIT6V

56 56 g . . .
21018 2yplefluieh eTemilh @ Semin HLSSUWIeU] :

A
9| ([H6OTEOT FrL160) LIWIT
B:
U EmLS 60016007 TSI60 T
C:
BUSH® GOTDEHGSLY S SHETTT
D:

IILISI6V SHeVITLD
T GeumienLd Q& MeooT(H LT QILOWIENLOW|LD G)LDeLN6TmILD
FTHMIBIGHTE) FTVE & 606V
—@ U urmLev auiflulleb 2_6iTerm 'FMHMIMISTEL' @& Q& TeLe6dT QILIMIBET :

A
Fa IO G5l
B:
QeaumitiLienifl_gai
C:
ST gg
D:
Fa AL G3I

58 |8 M QBN & &([HS S8 8M6T8 Q& Meuor(H 'QeuesoTLIM aulgailey @uMmLI QLIMHM HT6 :

A
55 QB ellera a0
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59

60

61

62

63

59

60

61

62

63

B:

LU QUITHET Gl6U6ToT LT LOT6m6V
C:

2 OBYE FTrLD
D:

&6 Gl6u 60T LIT

'QETEM GEV(LD RHEICET G eI’ eTedTml QMBS :

A:
8560011 UI6GOT L, MBI & 60T 60T IT T
B:
SIGNLEI
C:
SITUWLOTETeU T
D:
QUETETELITIT

STHF DL - §F QFmemell NG5 Wss RenLLiLig

A:

&6V + FleuidL
B:

&MH + Feulbyy
C:

&IT+ FleuidLy
D:

&M+ FlevldLy

Identify the speaker of this statement.
"I wonder whether it's a cyclone . . . . . The sound of it scares me."

A: Ammamma

B: Meenakshi Edathi

C: Malathikutty

D: Cheriamma

Which is not the rhyming word of the following ?

A root
B: shoot
C: loot
D: foot

Mateh the following :

(a) Brought to Book (i)
(b} The Jungle Book (ii)
c) That Sunday Moming (i)

(d) A childhood in Malabar : A memaoir (iv)

A (@), (b)-(iid), (0)-(1), (d)-(ii)

B (@)-(iv), (b)~(iii), (c)-(ii), (d)-(i)

C: (@)(ii), (b)-(iv), (c)-(1), (d)-(ii)

Savita Singh
Kamala Das
Rudyard Kipling
Madhumita Gupta

GET IT ON
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D (@)-(ii), (b)-(iv), (c)-(ii), (d)-(i)

64 64 | Who invented over 1700 of our common words by changing nouns into verbs, changing verbs into adjectives, connecting words never before used together,
adding prefixes and suffixes and devising words wholly original ?

A': Ruskin Bond
B: Rabindranath Tagore
C: William Shakespeare
D: Robert Frost
65 65 | The word 'bifurcates' can be replaced by :
A: join together
B: to make some one laugh or smile
C: holiday
D: divided into two separate parts

66 66

Arrange the following jumbled words in right order 1o form a meaningful
sentence.

Let us / then / that can run /make a robot / It said

{a) (o) (c] (d) (e)

Az (b), (), (). (), (o)

B: (a), (d), (c), (b). (¢)

C: (e), (b), @, (0) (D)

D: (b), (o), (3, (d), (©)

67 67  "That hears the sweetest music".
What figure of speech is used in the above line ?

A: Imagery

B: Personification
C: Simile

D: Metaphor

68 68  "The woods are lovely, dark, and deep,
But I have Promises to keep
And miles to go before I sleep,
and miles to go before I sleep."
- Who wrote these lines ?

A : Jawaharlal Nehru

B: Robert Frost

C: TS. Eliot

D: Tagore
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69 169 | If code word for 'Sunny' Smiles' is "TVMMZ TNLFT'. Choose the code word 'dusty feet'.

A: CTRSX EDDS

B: EVTUZ GFFU

C: TCRXS DEDS

D: GFFUEVTU

70 70 Christina M Kerschens 'Special Hero' is a poem on :

A': Scientist

B: Father
C: Mother
D: Warrior
71 71| A electronic mail (or) email is used to send letters (or) messages using the
A : Internet
B: Youtube
C: Whatsapp

D: Instagram

7272 Limerick poems have lines and are

A: 4, serious

B: 35, funny

C: 6, sensical

D: 3, two syllabic

73 73 Write the appropriate confusable word.
The gas prices continue to

A rise
B: raise
C: rice
D: none

74 74 Write the correct sentence pattern.
Jasmine gave money to the poor.

A: SVDOIO

B: SVOA

C: SVOCA
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D: SVOC

7575 | Pick out an other thyming word. One example is given below :
Yore - more

A file - friend

B: bridge - fridge

C: ginger - giraffee

D: twirl - twin

76 76 | Fill in the blank with appropriate expression.
, will you kindly tell your name once again ?

B: excuse me

C: please

D: pardon

77 |77 | If USA is United States of America, what is UFO ?

A Unknown Flying Object

B : Unified Firing Object

C: Unidentified Flying Object

D : Undiscovered Frozen Object

78 78 | "Monk" is belong to gender.

A: Masculine

B: Feminine

C: Neuter

D: Common

79 79 | A teacher is teaching a lesson with the theme of 'moral values'. He had written some words on the blackboard. One word doesn't belong to good quality,
find it out.

A diligence

B: compassionate

C: generous

D: miser

30 80 | Which of the following is not related to poetry ?

A: Stanza

B: Paragraph

C: Verb
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81 81
82 82
83 |83
84 |84
85 |85
86 |86

D : Rhyming words

Select the correct form of Indirect Speech.
He Shouted, "Let me go".

A : He shouted that he to go.

B : He shouted to them to let him go.

C: He shouted him to go.

D: He shouted him go.

What is the diminutive of 'zebra' ?

A: Cub
B: Lamb
C: Foal
D: Eaglet

Stronger pause than a Comma is

A: Semicolon

B: Colon
C: Full stop
D: Comma

What is the Synonym for 'Slum' ?

A fair

B: unfair
C: gloomy
D: dreamy

Find the synonym for the underlined words
I can see them Perched on my window sill.

A': to hang on

B: toreston

C: towipe

D: poured on

. [Punctuation Marks]

Complete the words by reading their meanings.

'"T—u-—."—adull sound.

A: Thug

B: Thuc

GET IT ON
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C: Thud

D: Thus

87 87 Write the antigram of the word santa,

A: Tansa
B: Satan
C: Sats
D: Ants

38 88 | Fill in the series.

ELFA, GLHA, ILJA, , MLNA
A: KLLA

B: LLMA

C: KLMA

D: OLPA

39 89 | A blockade you find across the road is called
A : Divider

B: Barricade

C: Pedestrian line

D: Speed Braker

90 190 ' pick out the antonym of the word "Proud".

A': Humble

B: arrogant

C: delighted

D: glad

91 91 | The number of 1 hundred zeroes after 1 is called

1 67681 6T600TE00M (D& L) LI 6OT60TIT6L 100 LLEFNWIMISGET 6UHSTEV 2605 GTEOTH GMITLD.
A: Google
Google
B: Googol
Googol
C: Chrome
Chrome
D: Mozilla
Mozilla

9292 Find the GCD of 2x2 - 18, x> - 2x - 3 :

2x2 - 18 IDMHMILD x2 - 2x - 3 QWH WieuDHM 6T LS.CILIT.6U &T600TSs.

A: x+1

x+1
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93 93

94 94

95 95

96 96

B: x-1

x-1
C: x+3

x+3
D: x-3

x-3

is added to 242 to get 252 :

242 o |eir 08 Fnl 1Q60TT6V 252 83 QILIMEVITLD.
A 42

42
B: 52

52
C: 2

62
D: 72

72

Evaluate. (52)% x (3 x 35)3 x 1572
B8
() x(3x3%3x152
A 5
320
7B
320
B: 5x320

5x320

e

The value of 'C' for which % gives 4810s :

% eTEITLIS) 48 eTeuflel C-6im oFIL :

A: C=256
C=256
B: C=250
C=250
C: C=200
C =200
D: C=180
C=180

What is the least number which has 1, 2, 4, 5, 8, 10, 16, 20, 40 and 80 as its factors ?
1,2.4,5,8,10,16, 20, 40 LDHMILD 80 @)6DI6UTEMET SHITT600NHETTE 6G\&MevorL. SISl 6T6uoT :

A: 80
80
B: 100
100
C: 128
128

D: 160

GET IT ON
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160
97 2 3
Find the area of the following fig :
A
S5em 13ecm
- sScm B
13em 12cm
12cm
5 G H 13cm
5cm N2cm
5cm
13em
C
&G Clamhssliul L uLgElsiT LTiLeTey STeseTs.
A
5 Qlead 13 Gle.f
5 GlFb
E F
13 Qeraf 12 Qg8
12 Glg.5 13 Q#.6
G H
D 5G&.d 12 Qw5
rroo W
&
Az 190 cm?
190 Q&LS?
B: 144 cm?
144 Q&FL8?
C: 169 cm?
169 Q&Ls?
D: 264 cm?
264 Q&LS?
98 98
Simpiify : 24 +2x8+-2—1
20+ [8x2+{6x3-10+5} ]
. . 24 +2x8 -2 -1
FH(HEGS
2+ [8x2+{6x3—10+5}]
A ﬂ
52
31
52
B: 8
13
2,
13
¢ 31
32
31
32
D: £
852
39
a2
99 9 ifa triangle is converted into a rectangle. The area of the triangle is 108 cm? and the length of the rectangle is 24 cm, then find the breadth of the rectangle.
R0 (W&HCHTETLD QF6UEISHLOMS THMLUILGH DS (P&GCH TS H 60T LIFLIL 108 O&F.15? LoH oD CF6ueus &S 6T Berih 24
Q& .15, 6Tevfl6v, QF UGS T 60T 3|&H6VLD 5 ITE00TS.
A: 55cm
5.5 Q&.LS.
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B: 40cm

4.0 Q& .15,
C: 35cm

3.5 Q&8
D: 45cm

4.5 Q&.108.

100 100 If the cost of 3 chairs is Rs. 1290, then twice the cost of 5 chairs is :
3 prmasmedgertler eflemev Rs. 1290 erevflev, 5 BTMH&Med G erflaor aflemeuu6ir @\ @H LOLBIE

A Rs. 12900
Rs. 12900
B: Rs. 6450
Rs. 6450
C: Rs.2150
Rs. 2150
D: Rs. 4300
Rs. 4300

101101 4 e complementary angle of x is equal to the supplementary angle of 130°, then the value of angle x is :

X 6T60TM B8 MetoTS S 60T BITLILIE CaMeuorinmengl 130° 607 Llen & BIFLILIG CaMeorsH M@ &FLolh 6reoflev x 60T IDGHILIL] :

At 600
60°
B: 300
30°
C: 500
50°
D: 400
40°
102 102
X X _. ¥ y _ . Z al : 2xy
fF—=x==1,<L£ X -“- =1, — x = = 1. Find the value of —=.
36 4 21 189 32 8 3z
ixi=hi L=l,ix5=lsr€5ﬁd32ﬂsﬁrm,®uu&rrsnﬁa;_
36 4 21 189 32 8 3z
A

@}
RIS NG @IS vl gl Gl oS S

103103 Two numbers are in the ratio 5 : 3 if they differ by 18 then what are the numbers ?
@)\ 6TEUOTGH6IT 5 : 3 6TedTm NP GHEHL 2_aiTement. 26U et CaumiLIm® 18 eTevf16D, 2161 G 61 GTITE 6T :

A: 60,42
60, 42
B: 54,72
54,72
C: 45,27
45,27

D: 65,47
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65,47

104 104 The gold coins from a gold bag fell down. One third of the gold coins fell on the ground. One fifth rolled under cot. Two persons started collecting the
coins. One person was able to collect one sixth and the other person collected one tenth of the coins. If only 12 coins are left in the gold bag. Find the total
number of coins in the gold bag.

(b SIS LI MBS SIS [HT600TLIE ST PG il (W HSHE0T. HMhig BHIT6TorWSH 60 LTIV (H LIKIG SemnTuiley
AWHsS!. BHH 6V R LINIG HLIQMEHE QU6 2 HeorCLMIYWS!. @ BT bHS BT WLh &Heer CFsfl&Hs
TGS, HeUF SLM6L @ LIMKIGLD, DMHOMITGBeT LGH6V e LIBIGLD Sk [HT600rLIE & 6T CFs 1556,
SIS enLIuilev 12 BTeooTWIBIG6T oL GG WS (BHSSH T, 3ihS i LN @) (BHS QLTSS HITEO0TWILD 618 5 60)60T ?

A: 30
30
B: 40
40
C: 60
60
D: 90
90

105 105 The total number of all two digit numbers that can be formed using 1, 3 and 5 (Repetition of digit is allowed) is
1,3 LMHMILD 5 &P WM (©)6V &8 MEI&HE6T LMILNEMUILD LIWETUG SS6VMD) Q& TeoT(® 2femnds e LIUGILD
@) [JE00TI. 60885 6T600T&s 6Tl 60T GILOITG S 6T600T6001 185608

A: 3
3
B: 6
6
C: 9
9
D: 12
12
106 106 5 ] 4
Meena bought 5 parts of 18 mangoes which costs Rs. 15 each, ?pon‘s of
14 apples which costs Rs. 20 each, what is the amount meena purchased 2
18 wribugpisails ofearm 5 Lks wrbuptissr surdslammi, patarsipn o 15
af s, 14 g inilsrsafls ; kg tillsrser seriiglarrt, pabarsmnd m. 20 af s,
Werm suriiFw QurFstsaflar Gurss alma wrg F
A: Rs.280
erp. 280
B: Rs.310
em. 310
C: Rs.300
ep. 300
D: Rs.290
erp. 290
107 107

Atbash cipher of the sentence
"R ZN Z KZIGMVI" is :

SILUmeq emm Genmui® serfleTLilg
"R ZN Z KZIGMVI" eTedTLIg 6T GmIui®) :

A: 1AM A TEACHER
I AM A TEACHER
B: 1AM A PARTNER
I AM A PARTNER
C: 1AM A COACHER
I AM A COACHER
D: 1AM A SHARPER
I AM A SHARPER
108 108

f0=5A=2 0=4, {D z O] + [ then the value of :

Ox O

D=5,A=2,0=4Grsnﬂ6h[ 1+I:Ifsisrmgu|_|:



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

109

110
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A: o2
02
B: A
A
Cc: [
0
D: DZ
DZ

109
If A got % part of mango and B got % part of it. How much did B get as exfra
part ¢
so(m WIbuUSSsn A —aflbhE % UBIGD, B &5 % kG &L sa!
aTeoflsl B —& (8 eTeususray L@ SHEls0 Slenl S5 EWD @

A: 5
B
8
&
B: 1
6
X
<]
C: 1
4
1
4
D: 1
2
il
2

110/ (a) A square has four lines of symmetry.
(b) A circle has infinite lines of symmetry.
(c) A rectangle has four lines of symmetry.
(d) An equilateral triangle has three lines of symmetry.
From these statements, which is/are the statement(s) is/are wrong ?
(a) FHITSHMS BHMeOTS FIOFET GG M(H 56T 2_6TerenT.
(b) ULLSHM& eTevoretormm FLOFET G M(H) &6 2_6TemenT.
(¢) QFUISHSHM & BTG FINFET CoHT(HS:ET 2_6T6TeoT.
(d) FLOUGS (NE&ECHTESH MG LT FINFET CoM(H &6T 2_6Terment.
GO &600TL. GUITEH S LIS 6T 60 6TF1 / 6TemeU HaUMTETS (6m6l) ?

A: (b)and (c)
(b) LDDH@ILD (c)
B: Only(c)
(c) LD
C: Only (b)
(b) LLL(BILD
D: (a), (b) and (d)
(), (b) LLODILD (d)

1T Eind the LCM of (2x2 — 5x — 3), (4x2 — 36).

(2x% - 5x — 3), (4x% — 36) 60T LS.QILIIT.LD &ITE00TEs :

A: x+t3)x-3)
(x+3)(x-3)

B: 42x+1)(x+3)
42x+ 1) (x+3)

C: 42x+ 1) (x+3)(x-3)
42x+ 1) (x+3)(x—3)

D: 2x+1)(x+3)(x—3)
@2x+1)(x+3)(x-3)

GET IT ON
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112 112 The income of a person increased by 20% and then decreased by 20%. What is the change in his income is :
& BUFET au@BLOMeTLD 20% AH&HESEUILLG LIDE 20% GMESILGR DS 6T60l60 2j6U(HL LI 6U(BLOMETS S 6V
gOU@LD LOTHMLD .

A1 1% increase

1% B s &S D
B: 2% increase

2% SIH&HERMS
C: 4% decrease

4% GRS
D: 5% decrease

5% GMDHDE!

113113 The value of A for which the given number 8467A5 is exactly divisible by 11.
8467A5 6T6OT(D 6T60OTE00I 16V A 60T 6TLD LHLILIDGS 11 260 W &F FHlwms au@GUBID ?

A

(= e I - Rl )

114 114 Monish has 13 square colour paper of sizes 11 cm, 12 cm, ..., 23 cm. How much area can be decorated with these colour papers ?

GurefladlLib 11 Q&.15, 12 Q&F.11, ... .23 QF .18 IG5 S|6T6)6T6T 13 F&IT 6961 61600T600T8: & ITEH G hIGH6T 2_6TameT. @)\h&
61 6TUTEO0T S & TG G5 6186016 Q1 MTeuoT(H) eTeleUeTe)] LITLImLI LSS S|6Vmhis &8 (I ?

A 3939 sq.cm
3939 &.QF.18
B: 4324 sq.cm
4324 &.QF.185
C: 4515sq.cm
4515 &.QF.15
D: 3949 sq.cm
3949 &.Q.F.18

15 s The volume of a solid right circular cone is 11088 cm?. Ifits height is 24 c¢m, then the radius of the cone is :

R0 HL CHIaIL L& FalDLN6T &HeoT 6mey 11088 Q& .15 215607 2 WIFLD 24 Q&.LS 6T60Tl60 48 60T 4TLD :

A: 12cm
12 Q&1
B: 2lcm
21 Q&8
C: 20cm
20 QF.15
D: 18cm
18 Q&F.LS

116 /116 The area of a shape formed by the linesx +y=4,x -y =4, -x +y=4and -x -y =4 is :
X+y=4,x-y=4,x+y=4100DOID x -y =4 HW CHTHIHETT eMLO&HHLILIGID 2 HaudHeor Lyl

A: 32 sq. units

32 F. VGG 6T
B: 4sq. units

4 F. 360G 56T
C: 8sq. units

8 F.9|6V&HSH6T
D: 16 sq. units

16 &F.60& & 6T

7 7 If the arcs of same lengths in two circles subtend central angles 40° and 60°, then their ratio of radii :

@ reor® el L hiGeflen, G 3i6ma| G1&mesorL el 6u6ed 6T HaTmIGET 40° LDMHMILD 60° &3 60LOWIG G85ITET0T IS 6T S &IThIEGLD
GGl 2j6uail([h 6UL L 518 EH& 8T 2 mhig&efer S gD :
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A: 4:6
4:6
B: 2:3
2:3
C: 3:2
3:2
D: 4:3
4:3

118 118/ If the total weight of 30 charts is 100 grams then how many charts are there in 5 kg ?
30 9| e L &erfletr QLOMES eTemL 100 B FITLD 6Tevfl6L ICH 6T ML 5 T).5) 6TemLUN6L 6755601607 316056 @) (B G LD ?

A 3000
3000
B: 2000
2000
C: 1000
1000
D: 1500
1500
119 119
If lis parallel to m, find the measure of x and vy in the figure.
n
AN
" »m
| oyeorml m &g @enssr etesflsy, LLGElL x WwHMID y 6T WHIILSHen6T
EITE0TE:
n
4 > |
/ > m
Az 300, 60°
30°, 60°
B: 200, 70°
20°, 70°
C: 400, 50°
40°, 50°
D: 450 450
45°,45°
120|120
In the figure AB is parallel to CD. Find x°, y° and z°.
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uLGHEleL AB oueerEl CD -85 @)ementt etesfley, x°, y° womib z° @edr
WEIILEHENET S &Ters.

A 1080, 48°, 60°
108°, 48°, 60°
B: 1089, 60°, 48°
108°, 60°, 48°
C: 600,489, 108°
60°, 48°, 108°
D 480,600, 108°
48°, 60°, 108°

121 1121 India is the second largest producer in the world.
@bH W 2 MUSHUN6L 2 60 &6T @IevorLMeug QuUflw 2 HUSHWITETTTGSLD.
A: Tea
Gz uilemev
B: Coffee
s

C: Sugarcane
S (HLOL
D: Oil Seeds

6T600T @\ 600T LI 611 55551 85 & 6T

122 1122 Find out the correct pair :
(a) Jaum - Andhra Pradesh
(b) Poonam - Kerala
(c) Podu - Assam
(d) Beewar Mashan - Madhya Pradesh
Fiflwimer @ emevoremLl &6uor(HLI1q.&&e]LD :
(2) gib - 24pS 7 HyesFLh
(b) QUITEITEOTLD — GBS TEITIT
(¢) QUIT(® — SyFmD
(d) Jeurj omamedr — wsHW HNFCseLd

A: (a) and (b) are correct

(@) LODID (b) &l
B: (b)and (d) are correct

(b) LoD (d) &
C: (a)and (d) are correct
(2) LOODILD (d) Fifl
D: (b)and (c) are correct
(b) ODILD () F1f]
123 123

Find out the incorrectly matched.
@eummieT ezl FlWMe: QUITBSSLILLelleuemey ?

A : Spring Tide - Full moon and new moon days
2 W @FMHIGHET — SILOMEUTENF LOMHMILD (LW [Bl16V6) &) 60T 6T
B: Neap Tide - Second and third quarter moon appears
SITLD RS MHIGET — &5 Feofleor @ revor(h LOMMILD ELNETMITLD &iTeV LGS U6y
C: Tidal zones - Sunderbans
R F&HD) 06T 6VID - FHESTaU6T FSILIL| LIGH
D : Wave Energy - Andaman and Nicobar Islands
2]V L MHMEV LOGTOTL VLD — B HFLOMEIT LOMHMILD BlISHCHTUTT He6 &6t

124|124 The statement "...... as many as 10,000 horses were imported into Kayal and other parts of India of which 1,400 were to be of Jamal-ud-din's own breed."
was given by whom ?
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"10000 -6 @&LD CLMUL L GHeMTSHET ST edaild gemenrl @ T W Slenm L& mh&efain @mée LG wmuiler.
Sjeumnlev 1400 GH eI 6T LnmenS et QUML) @ eTlIOLBSSHD QFUIS eUeTISHS! aIbS &H enTHaTTGID" — @)bHs
oD 60I60T G NI LLIGU T WITTTT 2
A: Marco Polo

TFC&HITCUTGeIT
B: Ibn Batuta

@UueT LUsTsm
C: Alberuni

2j6LLIH 60T
D: Wassaff

gLl

125 12

193

Which of the following committees/commissions made recommendations about the centre-state Relations ?

(a) Sarkaria commission

(b) Rajamannar commission

(¢) M. N. Venkatachaliah commission

Select the correct answer from the codes given below :

TH&5 G (W& GET / HLAaY6TSH6T LSH W — MElev 2 mels6r L) LbSienT Q&uigeor ?

(a) FFGSTAWT &

(b) TTEILOEITETT &P

(c) M.N.QI6UMBI& L TEFMEVIT & (LD

&CY G&EThS&sLUL BT GHWG seallelmia &flwmer efanLamws CHIHASH &S :

A: (a),(b)and (c)
(a), (b) & (c)
B: (a)and(b)

(2) & (b)
C: (a)and(c)

(2) & (¢)
D: (b)and (c)

(b) & ()

126 126 Name the 204 kilometer long link between India and Kathmandu.
@ BT WITenaU LD &THLOMEToT(H 6MeU LD @)60600Tds &L 204 B GeIT LS LIT FMeteuuil6dT GQILIWIT 6T6dT6uT ?

A : Pancheshwar Project
LImEehCFaqalf HILL LD
B: Mahendra Raj Marg
G&EHHT TSR bl SHL LD
C: Kaladan Multi Model Transit
HEVL60T LItT(Ln& LM CUIMEGaUTS SIS HL_L 1D
D: Grand Trunk Road
QU@L Lmeifld &meneu

127|127 Which is the 3™ highest rainy place in India ?

@ 6uhmieT 615l @ HH W MeN6v eLNeTHTEUSI H & LD QLMID @)L LD SLEGLD ?

A : Chinna Kallar
Fl60T60TE SH6VELITT
B: Chirapunji
TS
C: Uthakamandalam
2 _5810600TL_6VID
D: Kanyakumari
Seoteol MG
128 1128 [n 1976 which committee was appointed to give recommendations on fundamental duties ?
1976-10 9600T(H 2| LILIeDL &L emngeT UM Ll ESienTH6r oi6flés AemnsELILLL G 618! ?

A : Radha Krishnan committee
IS M6 B6i9.600T60T S

B: Kothari committee
Ca155Mf GW

C: Sardar Swaran Singh committee

FISITIT 606U T6T P & (WD

D: Nehru committee
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CH®G GW
129 1129 "Gastronomy" refers to :
STeVL_Grmeorisl eTedTLIS -
A : Adventure tourism
FM&HF & [HMI6VIT
B: Cultural tourism
SHEUMEFFMTT & MHMICVT
C: Eco tourism
@60 FMHDIEVIT
D : Historical tourism
QUTMTMHMIE & HmI6VIT
130 1130 Which tree is known as the oldest tree ?
6TH& 6UEM & LOTLD CLNGITUL 6T6T MLPESLILIGR TSI ?
A : Banyan tree
2LV LD
B: Bamboo tree
eLNMBIG GV LOTLD
C: Mango tree
LOMLOFLD
D : Banana tree
aUMeMLOLOT LD
131 131 Fill up the blanks based on the function of the cell organelle in plants.
Mitochondria : Cell respiration
Ribosome :
HTaly QF6v Hievoresal miL1LNedr Lieooflufesr oy LiLien_ulleb GHMIQL L @)L S6mS BITLILIES :
6L GLM&MevorL_flWIT ; Ql&F6L &reumeLD ;
AGUTG&mLD:
A : DNA synthesis

DNA 2 HLISH)
B : Photosynthesis
6flFCFI&Hm o
C: Protein synthesis
U5 2 DLSS
D : Starch synthesis
GULITHE 2 HLIGH
132 1132/ All prokaryotes belong to the kingdom of monera. Why ?
Semars sl LCTTCsGWL (H&EHLL QLmesilTT 6T6dTm 2 6085560 6016188 LILIL(H6TETeuT. 6760T ?

A: posses true nucleus
2_6UOT6MLOWIT6OT 2L &5 ([H & Meuor LILIBILD.
B: do not have membrane bound organelle
Feuaileurmey @GLOLILIL L [5I600TamI mILIL| &6T @)606m6V
C: do not posses nucleus but have membrane bound organelle
2 L & G)6Ven6v. L,e0TMey, F6lellermey @LLILIL L [BI6ooTemimiLiL| @ 65or(H).
D : do not posses true nucleus and they do not have membrane bound organelles
2 & (H LoHmILD Feueileormey @LoLILIL L Hl6UoTesnl mILIL|& 6T §)6Vemev.
133 133/ How many classes are in Algae ?
L& &6y 266 61511186160 6T600T60011 856005 :

A: 4
4
B: 3
3
C: 5
5
D: 2
2

1341134 Using the following hints, find out the phyllum.
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138
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(a) Segmented body

(b) Thick chitinous cuticle

(c) Paired and jointed leg

(d) Exhibit sexual dimorphism

Q&MTH&SULLBHETET GMILILISHm6T Q&Te(H QSTEH MW &euorL & :
(1) 85600 L_MBI&H 6T Q& T0oTL. 2_L_6V

(2) B1956S O&LIG6T 2 LD UL

(3) @) 6M6TOTE: &ITEVEET LDMHMILD &) 60)600T U MILIL| & 6T

(4) 24,6007 GlLI6voT GeumiLIM(H) 2 6v0T(H)

A : Porifera
Qumflauym

B: Arthropoda
TSCTTCUMLIT

C: Mollusca
GILDTeVENV& T

D: Annelida
9|60T60\LIT

The fertile part of a stamen is
@B DS THS STerfl6or aUeTLOmeoT u@@

A: Anther
IDSTHS 0L
B: Filament
D&THS SO
C: Pollengrain
D&THS Se
D: Connective tissue
@eneuorliLS Bl&
Find the unicellular organism :
R OF6 2 ulNiflemener sevorLmls :

A: Amoeba, Chlamydomonas, Bacteria

SUT BermCLmELOmeTmeN, Limgieifluim
B: Amocba, Fungi, Bacteria

SIS, LLEHenF &6, Limasie fflwim
C: Bacteria, Pisces, Fungi

umgte flwi, WeTa 6T, L, 6hem & &6l
D: Chlamydomonas, Amoeba, Worms

ST mLAGL MGLOTEDT M6, SILSLIT, L| (D& 86T

A person who met with an accident, the person feels acute pain in his/her joints. It is due to

RMHaUHHS LSS gHUBLD CLITS e/ lelensl ol (B &6rfl6) au6dlemnil 2 60T a1 M & M6oT & MI6uoriD :

A : The deposition of amino acid crystal in the joint

e B &afleL oGeTT 9yflev LIl SHMBEIGET LI 6aIGTeD
B : The deposition of Fatty acids crystal in the joint

e B &afl6h QamuWLL 9lev LIG&HRIG6T LIG6US TV
C: The deposition of uric acid crystal in the joint

el B &afle w,ild ojiflev LI SmbIGET LIg61gTe0
D: The deposition of glycolic acid crystal in the joint

e B &6f 6L & emars:Camedld oLiley LI & MhIG6T Lil6ugTe)

Match the following :

Component Exhaled air
(a) Nitrogen i) 78%
(b} MNoble gases fii) 4%
(c) CO: (i) 16%
(d) ©2 (iv] 0.95%
QUTHEEIS :
Component (L &Il Quim(meiT) Exhaled air (QleuefGuppLiLlL srHmi)
(a) emmLymest (i) 78%
(b) oms eumwSEsT (i) 4%
(c) CO2 (i) 14%

(d) ©2 (iv) 0.95%
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A (a)-(ii), (b)-(), (¢)-(iii), (d)-(iv)
(a)-(ii), (b)-(), (¢)-(iii), (d)-(iv)
B: (a)-(i), (b)-(iv), (c)-(ii), (d)-(iii)
(@)-(i), (b)~(iv), (c)~(ii), (d)-(iii)
C: (a)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
(@)-(i), (b)-(ii), (¢)-(iii), (d)-(iv)
D: (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(a)-(iv), (b)-(iii), (¢)-(i), (d)-(ii)
139 139
Match the following.
[a) Nifrogen Fixafion (i) Fungi

(b) Ammonification (ii) Pseudomonas

(c) Nitrification (iii) Nitrosomonas
(d) Denitrification {iv) Rhizobium
ClUM(HBEIS :
(a)  eopLrmer Hlaney HlmiSs0 (i) LL(EREnFSHET
(b) SGursflumsurssv (ii) (&FHOLTGLomesTmsiv
(c) smBLGriLTEs) (iii) sl GrrGarGmsoTmsiy

(d)  emplrzeir CleusflGwhmibd (iv)] enrGemiuwib

Az (@)-(v), (0)-(0), ()-(iii), (d)-(ii)
(@)-(iv), (5)-(D), ()-(iid), (d)-(ii)
B (@)-ii), (b)-(1), (c)-(iv), (d)-(ii)
(@)-(iii), (b)-(1), (¢)-(iv), (d)-(ii)
C: (a)-(i), (b)-(iii), (c)-(D), (d)-(iv)
(@)-(i), (b)-(iii), (c)-(1), (d)-(iv)

D (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
140 /140 | Adolescents get pimples on face because :
auariflamid LIheuSHev (N&HEH 60 LIHESH6T CHTedTM &MIesoriD :

A : Disintegration of thymous gland
G L06 &L e mb S el(H) 6 Te
B: The skin becomes coarse
G M6V HLQ60T HEOTEOLD D606 M6V
C: Sabaceous glands are very active
er6vor Q6vor Ut &1L & 6rfledt QEFweLLITH B SHLILISme
D : Growth of primary sexual characters
(DG EVBIEM6V LIMGULIGOOTL| 6U6ITTE &) U6 L6U S T6V

141 14

The Milky Way Galaxy, where our own solar system is located, is classified as a .
B0 &KW 6T 6VLD MBS (H&H G Limeueulld S Fermergi 6T60T GUEN & LILIMGSSLILIL (H6Tengl.

A : Spiral Galaxy
G (HeT el euor LSedT Hy6iT
B: Elliptical Galaxy
Bemaul_ L efevorLiSedr S iyeir
C: Irregular Galaxy
R (MBI MM 6 6vor 60T HyeT
D: Barred Spiral Galaxy
G&HMIQLL & (BT el6uorLiSedr S\ el

Substitute the comect word for the equation of photosynthesis :

sunlight
OO .
Ky chlorophyll e
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144 144
145 145
146 146
147 147

speflFCargsenmuilesr  Fwsturliysy  FflumeT  suTTEsnEHemsT 2 6irer (bl

GlFls :

A: X - Carbon-di-oxide, Y - Oxygen, G - Food, H - Water

X - BTTLGT-60L — 9,5FH Y -2,65) 22607 G - 2_evora H - B
B: X-Food,Y - Oxygen, G - Carbon-di-oxide, H - Water

X - 2 600T6Y Y - QL5960 G - STTL6T-60L—2,&560&® H - B
C: X-Food, Y - Carbon-di-oxide, G - Oxygen, H - Water

X - 260016 Y - SMTLT—60L— 3560 FH G - 2,5F Q60T H - B
D: X- Carbon-di-oxide, Y - Water, G - Food, H - Oxygen

X - BTTUT-60L— 3p&5m&H Y - B G - 2_cuora) H - 21,8 &) 3607

Egg yolk contain gram fats.
LML DEHF6T Hmeilev 2 6Tem Qasmwliiler Bleop _ Ggmudev.
A: 45 grams
45 M
B: 35 grams
35 Rymbh
C: 20 grams
20 mb
D: 10 grams
10 @b

Which one is not related to the global warming ?
LIsenLn @6vev aflemearne]L et QS TLTLN06TS Fa Mol 615 2

A Melting of ice cap and glaciers

Li6of] LD6m6VES6IT DM MILD LIesTlLILIMEn M & 6T 2 (15 (&S 60T 60T.

B: Soil erosion and unseasonal rains

Loevor H1LIL] LHMILD LIHEUSTEVLD FMTTTE LML
C: Loss of biodiversity

2 W lweH LeveUE &S GeTenLn @LLIL|
D: Acidrain

2jlev LnemLp

Which of the following is called as zaid crops ?
L9 65T6) (H6UEOTEU D MI6IT 678 FWIM(®H LIUNTTESLD ?

A: Paddy
Q[B6L

B: Cucumber
Qaueierifl

C: Pea
LI Lmeoof]

D: Ground nut
Bl6V& & L_6M6V

Aluminium Hydroxide is used as :
9 aviLdleof WD 6mQMLIJITE60)6r19 60T LILLIGHT :

A : Antibiotics
OL60TIQ LIWITL 19 &
B: Analgesics
616l [Bleumyevof]
C: Antipyretic
2 L6V QeuliLl geooflLi
D: Antacid
oo B&ES

Which of the following is acidic nature ?
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LD G E00TL UMD MIET 6751 A6V G FHETMLD 2 6L WG ?

A': Phenopthalein
LNeormLig65er

B: Methyl orange
QSH) STEHE

C: Ammonia
9|Gmeoflwim

D : Ammonium hydroxide

9B meflWD enamL_Jm&enev()

148 148 In electricity which one of the following equations is incorrect ?
18l etrenil 6N 6b B L& & 600TL & L06T LIMTH\ & EBET 6751 &6l MmTeoTg! ?
A
I,
I
gz ¥
|
B: IR=V
IR=V
C I v
R
Y
R
D: |
R =i
W
L
v
149 149

Which one of the following compound is used in toothpaste ?
LD 58 600TL6UMHMI6T 678l LipLen&Fulley LweTU®G SSLILB LD GFFnLh ?

A : Sodium chloride

GFMQ WD GGemmenT(h

B: Silicon
61606 & 601

C: Fluorine
Ljeebifladr

D: Cane sugar
&H([HLOL FISHHT
150 150
(v—u) .
ga=——if v>u:
(V—U
)

. — 60V >u eTsutleb :

A: v+tve,atve
v +ve, a+ve
B: v-ve,a-ve
V-ve, a-ve
C: v-ve, atve
v -ve, atve
D: v+ve, a-ve

v tve, a-ve
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